

CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: LA-COO-68025-692b1dca8fa9e

VERIFY.FTGS.US Date: November 29, 2025

Seller (Exporter) FLAVOY LLC 14705 Overlook Drive East	Transport Type Air	Port of Loading LOS ANGELES	
Bonney Lake WA USA	Destination Country China	Destination Port SHANGHAI	
Consignee YAPHUN SUPPLY CHAINS (NINGBO) CO., LTD ROOM 507,BLDG.1,YINCHEN BUSINESS CENTER YINZHOU,NINGBO,ZHEJIANG USCI: 91330212MA7JHE4976 ZIP: 315010	Export Date 2025-11-27	Exporting Carrier CHINA SOUTHERN AIRLINE	
	Import Permit Number	Bill of Lading / AWB 784-62595256	
JSCI. 91330212MA7JHE4976 ZIP. 313010 China	Owner or Agent	Forwarding Agent XCHANGE LOGISTICS CORPORATION	

Remarks Buyer (Importer)

Consignor reference: INVOICE NO.31



Description May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
ortis Imperium (24-16oz cans)	273.20 kgs	United States
ALL AND	Net: 229.80 kgs	
oid Nectar (Red Label) Case	273.20 kgs	United States
ETIC SOL	Net: 229.80 kgs	
/raiths - Case (24-16oz cans)	273.20 kgs	United States
	Net: 229.80 kgs	
ail! -FHM - Case (24-16oz cans)	136.60 kgs	United States
CERTIFICATE OF ORIGIN	Net: 114.90 kgs	
a Dama Caries Case (24-16oz) ocredited Chamber US2100201	136.60 kgs	United States
	Net: 114.90 kgs	
oodoo Dust Case	136.60 kgs	United States
	Net: 114.90 kgs	
ixes-Case (24 -16oz cans)	136.60 kgs	United States
CAAMBERS FEDER	Net: 114.90 kgs	



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.



CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: LA-COO-68025-692b1dca8fa9e

VERIFY.FTGS.US Date: November 29, 2025

Seller (Exporter) FLAVOY LLC	Transport Type Air	Port of Loading LOS ANGELES	
14705 Overlook Drive East Bonney Lake WA USA Consignee YAPHUN SUPPLY CHAINS (NINGBO) CO., LTD ROOM 507,BLDG.1,YINCHEN BUSINESS CENTER YINZHOU,NINGBO,ZHEJIANG USCI: 91330212MA7JHE4976 ZIP: 315010 China	Destination Country China	Destination Port SHANGHAI	
	Export Date 2025-11-27	Exporting Carrier CHINA SOUTHERN AIRLINE	
	Import Permit Number	Bill of Lading / AWB 784-62595256	
	Owner or Agent	Forwarding Agent XCHANGE LOGISTICS CORPORATION	
Buyer (Importer)	Remarks	E14-309 E	

Consignor reference: INVOICE NO.31

escription May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
raiths - One way 20L	481.32 kgs	United States
au Aldre	Net: 404.86 kgs	
perial Populus 20L One-way	481.32 kgs	United States
poDoo Dust 20L One-way	Net: 404.86 kgs	
poDoo Dust 20L One-way	481.32 kgs	United States
	Net: 404.86 kgs	
tle Bit	120.33 kgs	United States
CERTIFICATE OF ORIGIN	Net: 101.21 kgs	
omorrow, Today Accredited Chamber US2100201	216.59 kgs	United States
	Net: 182.19 kgs	
rass City	192.53 kgs	United States
	Net: 161.94 kgs	
na?s CHAMBERS FEDERATION	240.66 kgs	United States
CAAMBEDS FEDER	Net: 202.43 kgs	



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
 The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.



Buyer (Importer)

CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: LA-COO-68025-692b1dca8fa9e

VERIFY.FTGS.US Date: November 29, 2025

Transport Type Port of Loading Seller (Exporter) Air LOS ANGELES FLAVOY LLC 14705 Overlook Drive East **Destination Country Destination Port** Bonney Lake China SHANGHAI WA USA **Export Date Exporting Carrier** CHINA SOUTHERN AIRLINE 2025-11-27 Consignee YAPHUN SUPPLY CHAINS (NINGBO) CO., LTD Import Permit Number Bill of Lading / AWB ROOM 507, BLDG.1, YINCHEN BUSINESS CENTER 784-62595256 YINZHOU, NINGBO, ZHEJIANG USCI: 91330212MA7JHE4976 ZIP: 315010 Owner or Agent Forwarding Agent China **XCHANGE** LOGISTICS CORPORATION Remarks

Consignor reference: INVOICE NO.31



Weight Country of Origin (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.) Simpleton 168.46 kgs **United States** Net: 141.70 kgs 831.00 **United States** 96.26 kgs Net: 80.97 kgs Lovely Innit 216.59 kgs **United States** Net: 182.19 kgs Saison Bernice 288.79 kgs **United States** Net: 242.91 kgs 24.07 kgs **United States** Each A Little Token Net: 20.24 kgs United States Past, Remembered 48.13 kgs Net: 40.49 kgs Pacific Parasol 72.20 kgs **United States** Net: 60.73 kgs



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: The above-mentioned goods originate in the country(ies) specified above and comply with the rules of
- origin applicable in the country(ies) to those goods.

 The information in this certificate and in any documents provided to the Los Angeles Area Chamber of Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.



Buyer (Importer)

CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: LA-COO-68025-692b1dca8fa9e

VERIFY.FTGS.US Date: November 29, 2025

Seller (Exporter) FLAVOY LLC 14705 Overlook Drive East	Transport Type Air	Port of Loading LOS ANGELES	
Bonney Lake	Destination Country	Destination Port	
WA WA	China	SHANGHAI	
USA			
Consignee YAPHUN SUPPLY CHAINS (NINGBO) CO., LTD ROOM 507,BLDG.1,YINCHEN BUSINESS CENTER YINZHOU,NINGBO,ZHEJIANG USCI: 91330212MA7JHE4976 ZIP: 315010 China	Export Date 2025-11-27	Exporting Carrier CHINA SOUTHERN AIRLINE	
	Import Permit Number	Bill of Lading / AWB 784-62595256	
	Owner or Agent	Forwarding Agent XCHANGE LOGISTICS CORPORATION	
Buver (Importer)	Remarks		

Consignor reference: INVOICE NO.31

Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Object Permanence	48.13 kgs	United States
QUAMPS	Net: 40.49 kgs	
Teiled Alchemy Thousand Summers	48.13 kgs	United States
ATIL SOL	Net: 40.49 kgs	
Thousand Summers	96.26 kgs	United States
E CONTRACTOR OF THE CONTRACTOR	Net: 80.97 kgs	
aison Bernice case	119.13 kgs	United States
CERTIFICATE OF ORIGIN	Net: 100.20 kgs	
eauty Sleep case Accredited Chamber US2100201	64.98 kgs	United States
	Net: 54.66 kgs	
ast, Remembered case	64.98 kgs	United States
	Net: 54.66 kgs	XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
Much Appreciated case	32.49 kgs	United States
CA/AMBERS FEDER	Net: 27.33 kgs	



- of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this

-In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.

-The Applicant is authorized to give the undertakings set out herein.

CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: LA-COO-68025-692b1dca8fa9e

VERIFY.FTGS.US Date: November 29, 2025

Port of Loading Transport Type Seller (Exporter) Air LOS ANGELES FLAVOY LLC 14705 Overlook Drive East **Destination Country Destination Port** Bonney Lake China SHANGHAI WA USA **Export Date Exporting Carrier** CHINA SOUTHERN AIRLINE 2025-11-27 Consignee YAPHUN SUPPLY CHAINS (NINGBO) CO., LTD Import Permit Number Bill of Lading / AWB ROOM 507, BLDG.1, YINCHEN BUSINESS CENTER 784-62595256 YINZHOU, NINGBO, ZHEJIANG USCI: 91330212MA7JHE4976 ZIP: 315010 Owner or Agent Forwarding Agent China **XCHANGE** LOGISTICS CORPORATION

Buyer (Importer)

Remarks

Consignor reference: INVOICE NO.31



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
ach A Little Token case	43.32 kgs	United States
TUAMON	Net: 36.44 kgs	
The Sky & the Sea case	32.49 kgs	United States
A STATE OF THE STA	Net: 27.33 kgs	
Shared Concepts case	43.32 kgs	United States
	Net: 36.44 kgs	
Skipped Stitches case	43.32 kgs	United States
CERTIFICATE OF ORIGIN	Net: 36.44 kgs	
Thousand Summers case Accredited Chamber US2100201	43.32 kgs	United States
	Net: 36.44 kgs	
end of products	=====	
A TON		
CHAMBEDS FEDER!		



Authorized Signature Farhad Ghorbani Fard

- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing
- of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.

COMMERCIAL INVOICE

SELLER:FLAVOY LLC 14705 Overlook Dr E Bonney Lake WA 98391 Unified Bussiness ID #605309368

CONSIGNEE: YAPHUN SUPPLY CHAINS (NINGBO) CO., LTD

AD: ROOM 507,BLDG.1,YINCHEN BUSINESS

CENTER, YINZHOU, NINGBO, ZHEJIANG, CHINA USCI:

91330212MA7JHE4976 ZIP: 315010

Cell no.: 18312913918/Wang E-mail: wqq@yaphun.com

DATE:2025.11.25 INVOICE NO.31 SHIP TO:PVG

NUM.	DESCRIPTION OF GOODS	UNIT PRICE/\$	QTY	TOTAL PRICE/S
1	Mortis Imperium (24-16oz cans)	6.84	480.00	3283.20
2	"Void Nectar (Red Label) Case	6.57	480.00	3153.60
3	Wraiths - Case (24-16oz cans)	6.03	480.00	2894.40
4	Hail! -FHM - Case (24-16oz cans)	6.57	240.00	1576.80
5	La Dama Caries Case (24-16oz)	8.19	240.00	1965.60
6	Voodoo Dust Case	6.84	240.00	1641.60
7	Sixes-Case (24 -16oz cans)	5.22	240.00	1252.80
8	Wraiths - One way 20L	151.20	20.00	3024.00
9	Imperial Populus 20L One-way	183.60	20.00	3672.00
10	VooDoo Dust 20L One-way	205.20	20.00	4104.00
11	Little Bit	81.00	5.00	405.00
12	Tomorrow, Today	86.40	9.00	777.60
13				
14	Grass City	86.40	8.00	691.20
15	Anaïs	86.40	10.00	864.00 604.80
16	Simpleton	86.40	7.00	
17	831.00	86.40	9.00	345.60
18	Lovely Innit	81.00 216.00	12.00	729.00 2592.00
19	Saison Bernice Each A Little Token	243.00	1.00	243.00
20	Past, Remembered	243.00	2.00	486.00
21	Pacific Parasol	243.00	3.00	729.00
22	Object Permanence	243.00	2.00	486.00
23	Veiled Alchemy	243.00	2.00	486.00
24	A Thousand Summers	270.00	4.00	1080.00
25	Saison Bernice case	11.70	132.00	1544.40
26	Beauty Sleep case	13.05	72.00	939.60
27	Past, Remembered case	16.65	72.00	1198.80
28	Much Appreciated case	13.50	36.00	486.00
29	Each A Little Token case	13.05	48.00	626.40
30	The Sky & the Sea case	13.05	36.00	469.80
31	Shared Concepts case	13.05	48.00	626.40
32	/ Skipped Stitches case	13.05	48.00	626.40
32	A Thousand Summers case	13.50	48.00	648.00
	/ TOTAL			44253





PACKING LIST

SELLER:FLAVOY LLC 14705 Overlook Dr E Bonney Lake WA 98391 Unified Bussiness ID #605309368 CONTACT PERSON: GAO CELL NO.: +1 206 853 3181

CONSIGNEE: YAPHUN SUPPLY CHAINS (NINGBO) CO., LTD

AD: ROOM 507,BLDG.1,YINCHEN BUSINESS CENTER,YINZHOU,NINGBO,ZHEJIANG,CHINA USCI:

91330212MA7JHE4976 ZIP: 315010

Cell no.: 18312913918/Wang E-mail: wqq@yaphun.com

DATE:2025.11.25 INVOICE NO.31 SHIP TO:PVG

NUM.	DESCRIPTION OF GOODS	QTY	QTY Liters	Net Weight(kg)	Gross Weight(kg)
1	Mortis Imperium (24-16oz cans)	480.00	227.04	229.80	273.2
2	"Void Nectar (Red Label) Case	480.00	227.04	229.80	273.2
3	Wraiths - Case (24-16oz cans)	480.00	227.04	229.80	273.2
4	Hail! -FHM - Case (24-16oz cans)	240.00	113.52	114.90	136.6
5	La Dama Caries Case (24-16oz)	240.00	113.52	114.90	136.6
6	Voodoo Dust Case	240.00	113.52	114.90	136.6
7	Sixes-Case (24 -16oz cans)	240.00	113.52	114.90	136.6
8	Wraiths - One way 20L	20.00	400	404.86	481.3
9	Imperial Populus 20L One-way	20.00	400	404.86	481.3
10	VooDoo Dust 20L One-way	20.00	400	404.86	481.3
11	Little Bit	5.00	100	101.21	120.3
12	Tomorrow, Today	9.00	180	182.19	216.5
13	Grass City	8.00	160	161.94	192.5
14	Anaïs	10.00	200	202.43	240.6
15	Simpleton	7.00	140	141.70	168.4
16	831.00	4.00	80	80.97	96.2
17	Lovely Innit	9.00	180	182.19	216.5
18	Saison Bernice	12.00	240	242.91	288.7
19	Each A Little Token	1.00	20	20.24	24.0
20	Past, Remembered	2.00	40	40.49	48.1
21	Pacific Parasol	3.00	60	60.73	72.2
22	Object Permanence	2.00	40	40.49	48.1
23	Veiled Alchemy	2.00	40	40.49	48.1
24	A Thousand Summers	4.00	80	80.97	96.2
25	Saison Bernice case	132.00	99	100.20	119.1
26	Beauty Sleep case	72.00	54	54.66	64.9
27	Past, Remembered case	72.00	54	54.66	64.9
28	Much Appreciated case	36.00	27	27.33	32.4
29	Each A Little Token case	48.00	36	36.44	43.3
30	The Sky & the Sea case	36.00	27	27.33	32.4
31	Shared Concepts case	48.00	36	36.44	43.3
32	Skipped Stitches case	48.00	36	36.44	43.3
33	A Thousand Summers case	48.00	36	36.44	43.3
				1	
	TOTAL		4300.20	4352.43	5174.43



